Solutions to Assignment 2

Problem 1:

T statistics for the Slope = 1.06514/0.137608 = 7.74

Mean square of residual = 870949/23 = 37867.35

Standard Error of est. = Sqrt(37867.35) = 194.6

R-Squared = 2.26878E6/3.13973E6 = 72.3%

Correlation coefficient = Sqrt(.723) = 0.85

Problem 2:

A
Damage = 10.2779 + 4.91933*Distance

B
Yes. The slope estimate of 4.91933 is statistically significantly different from 0.

C
[4.071, 5.768]. We estimate that the average damage to increase 4.91933 thousand dollars for every 1 mile increase in the distance between the fire and the nearest fire station. We are 95% confident that the true parameter falls between 4.071 and 5.768.

D
R2 = 91.76%. This means that 91.76% of the variance of Damage is explained by the variance of Distance.

E
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Problem 3:

A
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B

[image: image3.wmf]   HomesSold = 5566.13 - 210.346*InterestRate


C
Yes.

D
R2 = 83.26%, suggesting 83.26% of the variance of Homesold is explained by the variance of InterestRate.

E
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Problem 4:

A
It appears that CEO pay is related to company performance.
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B


[image: image6.wmf]   TotalPay = -3284.47 + 451.446*Performance


C
Yes.



H0: (1 = 0


HA: (1 ( 0


The p-value associated with the slope is 0.0000 which is less than 0.05. ( Reject the null hypothesis. ( CEO compensation is related to company performance.

D
Row 15.

E
After eliminating the influential point, the slope is no longer statistically significantly different from 0 (p-value = 0.172).

Problem 5:

A
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B

[image: image8.wmf]   AnnualizedRisk = 57.7551 - 0.399606*AverageCreditRating


C
Yes.

D
AnnualizedRisk decreases 0.399606 units for every 1 unit increase in AverageCreditRating. 

E
[-0.58487, -0.21434]. We are 95% confident that the true parameter falls between –0.58487 and –0.21434.

F
Row 1.

G
The slope is re-estimated at –0.325.

Problem 6:

A

[image: image9.wmf]Plot of SuccessIndex vs NumberofInteractions

0

20

40

60

80

100

NumberofInteractions

25

45

65

85

105

SuccessIndex


B

[image: image10.wmf]   SuccessIndex = 23.0031 + 0.715067*NumberofInteractions


C
Yes. The average success index increases 0.715067 (the slope) for every additional interaction. The slope is statistically significantly different from 0 (p-value = 0.0000). Also, the value of adjusted R square suggests that 77.76% of the variance of the SuccessIndex is explained by the variance of the NumberofInteractions.

D


H0: (1 = 0


HA: (1 ( 0


The p-value associated with the slope is 0.0000 which is less than 0.05. ( Reject the null hypothesis. ( The number of interactions with outsiders contributes information for the prediction of managerial success.

E
[0.526379, 0.903755]

F
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Caution should be exercised for this prediction because 110 is outside the data range (10 to 82) for the NumberofInteractions on which the regression model is estimated.

H
The prediction interval for Y (SuccessIndex) is the narrowest when the independent variable X (NumberofInteractions) is equal to Xbar, the average number of interactions from the data. The average number of interactions is 44.16.
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[image: image18.wmf]   TotalPay = -3284.47 + 451.446*Performance
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[image: image20.wmf]   AnnualizedRisk = 57.7551 - 0.399606*AverageCreditRating

[image: image21.wmf]Plot of SuccessIndex vs NumberofInteractions

0

20

40

60

80

100

NumberofInteractions

25

45

65

85

105

SuccessIndex

[image: image22.wmf]   SuccessIndex = 23.0031 + 0.715067*NumberofInteractions
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